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SPECIFIC INSTRUCTIONS

Candidates have to attempt Question Nes. 1 and 2, and any four of the remaining ones.
Attempt six questions in all.

Marks carried by each question are indicated at its end.
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(@)

(b)

(c)

(@)

“qe s A amen HER R W9 a6 S TElda Bud % fog gsEel = IvEn
39 A B |7 9Rd F dfEUR gR NeT A S9ERl ) SATed #0536 H9 W fewh
it

“A declaration of fundamental rights is meaningless unless there is an effective
judicial remedy for their enforcement.” Comment on this statement explaining
the judicial remedies provided in the Constitution of India.

WA fum | U@ s I9ey § S At @ Fuga @ @ 5 gl =@ §) =
Sysral ol faae i it = e & geegy Foid & we difg

There are many provisions in the Constitution of India which secure
independence and impartiality of the Judiciary. Discuss those provisions and
refer to important judgements of the Supreme Court.

1 G o AFR] | Hafta aRdia w@fagm F 9w 01 R g9 #=oaswd 27 fEem fifg

Can Parliament amend Part III of the Constitution of India relating to
Fundamental Rights? Discuss.

dfaum ¥ fafim sig=est 1 w=f 29 g o9 w@ Tsat 3 wen fyurf @yl i =men i

Explain relations between the Union and the States in legislative matters with
reference to various Articles of the Constitution.
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(b)

(c)

- 3 el i gage A W fag far sfufem, 1955 & swwia nfie gusmw 6 i’ am

51 w21 R gyEm # fEh o ‘Ter-fasse fi G d o 20

State the grounds on which a ‘decree for judicial separation’ may be obtained
under the Hindu Marriage Act, 1955. How does a ‘decree for judicial
separation’ differ from a ‘decree of divorce’?

(i) FH-8 a0 F AR eHAF F AUFE F T FHFA 8, VA HINC | F ISH F AR
gt i oft gy 1 AR Iuerey B7 faEe Fifw)

Describe the classes of persons who can claim a right of pre-emption.
Whether the right of pre-emption is still available on ground of vicinage?
Discuss.

(i) e, fea-foa-wew v fea-a-wida-ws 3 = fifsw)
Distinguish between Hiba, Hiba-Bil-Evaz and Hiba-Ba-Shartul-Evaz.

dfee & qaiquie 9 | ST T HEAD 8

o ‘Tede dTo Sige YAHIREE, TUo dlo o' THHR WIEH ¥ Uw Hfue wdl & R 9w W
1000 geft st 31 femwe, 2015 %1 41 36 94, ¥ 400 ¥t Ffs A @ & 3mfd Fon| 9=
H wgell qa=, 2015 1 THHo dl0 Sgo ZaweEd, Ue sio Ho' A= VW @I g gl
wa & T ar w0 sgfd 7€ Fom) 59 g § e e o' MR WA F FH-H IR
Iqesy 8, e il

What do you understand by anticipatory breach of contract?

M/s XYZ Textile enters into a contract with ABC Garment Showroom for
supply of 1000 pieces of cotton shirts at ¥ 400 per shirt to be supplied on or
before 31st December, 2015, Later on, on 1lst November, 2015 XYZ Textile
informs ABC Garment Showroom that they will not supply the shirts. Discuss
the remedies available to ABC Garment Showroom.

3. (a) U 9 mwauaﬁ%?éua*w%waaﬁ%?m#&mﬂwﬁﬁm
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(b)

What do you understand by mortgage? What are the essentials of valid
mortgage? Distinguish between mortgage and charge.

Frefefiga @ s $ifse -
Distinguish between the following :

() Tifea fea wa wuifym fea

Vested interest and Contingent interest

(i) TE A FIHW

Lease and Licence
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4.
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(a)

(b)

(b)

WIfiarl wH % TSR & H1 U9TE 87 F1 GH b S(USIEH % YW I, 912 % @Ed T
A, B H TSEd e @ S wwar @7 e Fifg

A 3R Higd T Ausiiga w4 % vrier 3| swierd e § Tz susry o £ wrferl F 0w
foare ¥R i 2w F A F werem F) A G Sen) 3w e a9 96§ e far swE
B T A A mey Ty S ueg 9@ 3 sl wenfa 96 4 i faer # newy =
=i @ ¥ 3R = famn) 7 dien F fqar 9wy 9 g=hii 70 F o few e
el 87

What are the effects of non-registration of a partnership firm? Whether the
effects of non-registration of firm can be cured during pendency of the suit by
getting the firm registered? Discuss.

Mohan and Sohan were partners in an unregistered firm. There was provision
in partnership deed that in case of any dispute between the partners, the
matter will be referred to arbitration. After some time, a dispute arose between
the partners and Mohan appointed an arbitrator but Sohan did not give his
consent and refused to refer the dispute to the arbitrator. Whether Sohan can

be compelled to refer the dispute to the arbitration? 15

YAl A oA AriRi FO9EE 3Al 9iad § g MeeEs qei) faee S

FIY, SEF F1 TR Bl IE ST B-v SEH B2 A AN Y I - ¥ s

UMY IE T 0 Gy R eqes drfier §7

“Sharing of profit is prima facie evidence of partnership, but not conclusive.”

Discuss. AY _

Santosh is wife of Alok. She gave her Stridhan to Alok. Alok started his

business from that Stridhan. Whether Santosh and Alok are partners? 15

"'arEdE FEEYHE] 1 AH d9 T 3099 T8l 8 9 0% 5 WEgHEl Sad F Faed H 9 |

T mn &7 Foffa 9@l 6 wema @ @ s 6 Ee i

“No case of actionable negligence will arise unless there is a breach of duty to

take care.” Discuss this statement with the help of decided cases. 10

“qa AER F IPI W AEEE U TTF W FEar 21 T ¥ afre ¥ Awta iR

fagra ¥ aes ¥ 39 FyA F1 fHvewe Fifsm)

“The Court can provide compensation for violation of Fundamental Rights.”

Analyze this statement in the light of emerging principle of liability of State. 10
3 [ P.T.O.
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(c)

(a)

(b)

(c)

(b)

fafafas & s Hifs -
Distinguish between the following : 5+5=10
(i) TEH T WIER

Assault and Battery

(ii) 19EE o 3 IUEE 9=
Libel and Slander

RefE =g wfufm § fard F w0 afver 37 fEsm A
What are the rights of beneficiary in the Indian Trust Act? Discuss. 10

ForgevE Tieheal % firera & 31 F0 wwed 87 e faera foF v 3 =l woen) g 27

What do you understand by doctrine of cy pres? On what type of trusts this
doctrine is applied? 10

Frafaiaa g &1 IeE |ieq Awe Fif
Explain the following maxims with illustrations : 5+5=10
(i) T ETEA 9Tl i AT SiaHl =91
He who seeks equity must do eqﬁity.
(i) &l | wHE A, 9 At sy defy

Where equities are equal, the law shall prevail.

Tt g gantueR’ § 9 0 wEea §7 369 AavEE o™ 1 87 wWe s et 3
FR Ff)

What do you understand by ‘easement by prescription’? What are its
essentials? Distinguish between profit a prendre and easement. 15

faffée =igam’ @ =9 #=n waed §7 #0 7ve Ay F yada F fou fafifEe s wem e
ehal 87

What do you understand by ‘specific relief”? Whether specific relief can be
granted for enforcement of criminal law? 15



8. (a) “f wlwa F wR @ 21 39 Fem ¥ wm swEw §7 R Sifw

10.
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(b)

"W, 9 A 10,000 FW A § GG @ R AP A Featia @ 2w fifed
&9 H G H F0 F GG € 5,000 3 F T 31 8| 1 a8 Tl whier 27 dfie sl
% G 39S 1 Ig@ hife |

“An agreement without consideration is void.” What are the exceptions to
this rule? Discuss.

A owes ¥ 10,000 to B but the debt is barred by the Limitation Act. A signs a

written promise to pay B 5,000 on account of debt. Is it valid contract? Refer
to relevant provision of the Contract Act.

AT A W w0 F faeg far-fasee =1 folg R g 3 afia A sl ey F o
grfdaTe o 21 0’ 3 foame-faede % sw-favg anfie 1 S when @ o T2 9 ¥ R
ferame < faftr wr=ren sramgw) o gud A owR wRm AR afie srdER w @ w7 9nt uE
feg 81

C was granted divorce by the Court against P. C got remarried before the
expiry of the period of appeal. P filed an appeal against the order of divorce and
it has been granted. Discuss the legality of the second marriage of C. Will it
make any difference if the appeal is dismissed? Both the parties are Hindu.

F=feifaa € =amen Hifs
Explain the following :

(a)

(b)

(c)

gfem fafa &% dom % fafus Rom
Legal consequences of Talak under Muslim Law

Al o o Tew § s

Difference between Acknowledgement and Adoption

firn ofn g mufven oy 3w

Difference between Shia and Sunni Succession Law

fefafan wrenst § & fedl @ =), wrifes fifs 51 33a 0 gy, e AR -

Solve any three of the following problems by referring to relevant law :

(@) T Gfem afd ‘Tege’ q@ A i wliw wa 21 Iuh veeh ueh Sreo’, Tve i dhear ¥

i gog Far T - 1 qE e B gsege’ weE § Aafes fafu, sioS w A
Al gell T A g A R, w1 oA @ ) Pk i

A Muslim husband W contracts a second marriage. His first wife Z claims
separate residence and maintenance under the Criminal Procedure Code.
W pleads defence of his personal law which permits him to take more than
one wife. Decide.
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(b)

(c)

(@

‘g ¥ o wn e R E R E, e, T W €10,000 3 H Efw Fa j T F WA
S o S 21 w0 A, ‘s’ A € 10,000 G wehal @7 1 T8 A dfeE R

A contracts to pay € 10,000 to B if B’s house is burnt. House of B is burnt. Can

B recover € 10,000 from A? Is it a wagering agreement? 10
‘¥ wHEE FR A G F W 3@ RS F qide B FaEe
A abuses B in a lonely room. State the liability of A. 10

‘o, ‘@ F) o qrier F w9 # W A ofem w21 g9 @ R aRad § e e
srftere 78 %1 @, @ H IuW WA Y Fa@ 21w W, T F wE % fo w77

A introduces B to C as his partner and B remains silent. In fact, A and B are
not partners. C supplies goods to B on credit. Is A liable for B’s act? 10

* % %k
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